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Paper First

COST ACCOUNTING 

Time : Three hours

Maximum Marks : 75

UkksV& lHkh ik¡p iz'uksa ds mÙkj nhft,A izR;sd bdkbZ ls ,d iz'u 
djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA
Attempt all the five questions. One question from

each Unit is compulsory. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. ¼v½ ykxr ys[kkadu dh fdUgha pkj i)fr;ksa dh laf{kIr esa foospuk
dhft,A 7.5 +7.5

Discuss in brief any four methods of  Cost

Accounting.

¼c½ lkexzh dh fujUrj vkx.ku iz.kkyh dh foospuk dhft,A

Discuss Perpetual Inventory system of materials.

vFkok 
OR

fuEufyf[kr fooj.k ls tuojh 2017 ekg dk Hkkj;qDr vkSlr
ewY; i)fr ls lkexzh dk fuxZeu ewY; fn[kkrs gq, LVkslZ [kkrk
cukb,A 15

From the following information prepare Stores

Ledger Account. Showing the issue price of materials 

on the basis of weighted Average Price Method for

the month of January :

tu- Jan 1 1 izkjafHkd Lda/k 50 bdkbZ nj 30 ` iizzfr bdkbZ

 Opening Stock 50 Units @ ` 30 per unit

tu- Jan 5 fuxZeu 2 bdkbZ 

 Issued 2 Units 

tu- Jan 7   Ø; 48 bdkb;k¡ nj 40 ` iizzfr bdkbZ

 Purchased 48  Units @ ` 40 per unit

tu- Jan 9   fuxZeu 48 bdkb;k¡

Issued 48 Units 

tu- Jan 19  Ø; 76 bdkb;k¡ nj 30 ` iizzfr bdkbZ

Purchased 76  Units @ ` 30 per unit

tu- Jan 24 9 tuojh ds fuxZfer bdkb;ksa esa ls 19 bdkb;k¡

 LVkslZ ls okil izkIr gqbZ
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Received back in stores 19 units out of the

units issued on 9th January

tu- Jan 27  fuxZeu 10 bdkb;k¡

Issued 10 Units 

tu- Jan 29  dks LVkWd fujh{k.k ds nkSjku lkexzh dh 02

bdkb;k¡ de ik;h x;hA

2 Units of materials loss  was revealed on

January 29 during stock verification.

bdkbZ–2

 Unit–2

2. cSrwy oqM dEiuh ds nks lsok foHkkx gSa ftuls lEcfU/kr
mifjO;;ksa dk ;ksx 6000 #i;s ,oa 4000 #i;s gS ftudk
foHkktu vxzkafdr rkfydk esa fn;s x;s vUr% lsok foHkxh;
izfr'kr vk/kkj ij dhft,A
ABC mRiknu foHkkxksa ds dqy mifjO;;ksa dh x.kuk dhft,µ
;g eku yhft, fd foHkktu ds iwoZ foHkkx A, B ,oa C  dk
;ksx Øe'k% 8000 #i;s] 9000 #i;s ,oa 7000 #i;s gSA 
Betul Wood Company has two service Departments

with respective totals of Rs. 6000 and Rs. 4000 at

overhead to be apportioned on inter-service

departmental basis of percentage given in the chart :

Find out Compute the total overhead of production

department A, B and C assuming the totals of

production department A, B and C being Rs. 8000,

Rs. 9000 and Rs. 7000 respectively  before

distribution.

foHkkx mRiknu foHkkx lsok foHkkx

Department Production Department Service
Department

A B C P Q

P 30% 40% 20% – 10%

Q 30% 30% 20% 20% –

mifjO;;
¼#0½ 8,000 9,000 7,000 6,000 4,000

Overheads
(Rs.)

vFkok 
OR

¼v½ izR;{k ,oa vizR;{k Je dks le>kb;sA 7.5

Explain Direct and Indirect labour.

¼c½ e'khu ?k.Vk nj dSls fu/kkZfjr dh tkrh gS \ 7.5

How Machine Hour Rate is determined ?

bdkbZ–3

 Unit–3

3. XYZ fyfeVsM us fdlh oLrq dh 4000 bdkb;ksa ds mRiknu
djus dks vuqcU/k fd;k gS rFkk fuEufyf[kr lwpuk,¡ miyC/k
gSµ
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XYZ Limited has undertaken a contract for the

manufacture of 4000 units and the following

information have been obtained :

lkexzh ykxr (Ma te ri als  Cost) ` 30 izfr bdkbZ (Per unit)

izR;{k etnwjh ` 25 izfr bdkbZ (Di rect Wages ` 25 Per unit)

foØ; ewY; ` 75 izfr bdkbZ (Sell ing Price ` 75 Per unit)

mifjO;; izHkkj esa 'kkfey gS ¼v½ fLFkj O;; ` 30000 

¼c½ ifjorZu'khy O;;  ` 18000 ¼l½ v)ZifjorZu'khy O;;

(50% fLFkj)  ` 12000

(1) izfr bdkbZ ykHk dh x.uk dhft,A

(2) izfr bdkbZ ykHk D;k gksxk ;fn 5000 bdkb;k¡ fufeZr dh tkrh

gSaA

dqy fLFkj mifjO;; izHkkj izR;sd Lrj ij vifjofrZr jgrh gSA

The overhead charges consist of (A) Fixed expenses   

` 30000 (B) Variable expenses  ` 18000 (C) Semi

Variable expenses (of which 50% is fixed  ` 12000.

(1) Calculate the profit per unit.

(2) What would be the Profit per unit.

If the number of produced articles are 5000 units. The 

total fixed overhead charges remain unchanged at all

levels.

vFkok 
OR

Bsdk [kkrk rS;kj djrs le; vki fdu&fdu egÙoiw.kZ fcUnqvksa
dks /;ku esa j[kksxs \ pkyw dk;Z ¼fØ;kek.k dk;Z½ dh x.kuk Bsds
[kkrs esa fdl izdkj dh tkrh gS \ ;g fpV~Bs esa fdl izdkj
fn[kk;k tkrk gS \ le>kb;sA 
What important points should be kept in mind in

preparation of Contract Account ? How is

work-in-progress calculated in contract Account ?

How is it shown in the Balance Sheet Explain ?

bdkbZ–4

 Unit–4

4. ,d fuekZ.kh m|ksx dk mRiknu nks izfØ;kvksa ls xqtj dj fufeZr 
eky dh Js.kh esa igq¡prk gS fiNys  vuqHko ls ;g irk pyrk gS
fd izfØ;kvksa esa {k; bl izdkj gksrk gSµ
izfØ;k M esa izfo"V bdkb;ksa dk 5%

izfØ;k N esa izfo"V bdkb;ksa dk 10%

izfØ;k M ds {k; dk vof'k"V va'k dk foØ; ewY; 8 #i;s
izfr 100 bdkbZ gS ,oa izfØ;k N esa foØ; ewY; 10 #i;s izfr
100 bdkbZ gSA
A Manufacturing Company’s product passes through 

two district process, then to finished stock. It is

known from Past experience that westage occruing in 

the process is as under : 

In process M 5% of the units entering the process.

In process N 10% of the units entering the process.
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The scrap sales value of the wastage in the process M

is Rs. 8 per  100 units and in process N is Rs. 10 per

100 units.

izfØ;k lEcU/kh vU; tkudkjh bl izdkj Fkhµ
The Process figures were :

izfØ;k M izfØ;k N
Process M Process N

` `

lkexzh iz;qDr 2,000 1,600

(Material Consumed)

etnwjh 2,400 2,000

(Wages)

vU; O;; 1,000 1,000

(Other Expenses)

izfØ;k M ds 600 #i;s dh ykxr ls 1200 bdkb;k¡ iz;qDr gqbZA 
mRiknu bl izdkj jgkµ
izfØ;k M esa 1100 bdkb;k¡ rFkk
izfØ;k N esa 950 bdkb;k¡
izfØ;k [kkrs ,oa vlkekU; {k; [kkrk cukb,A
1200 Units were brought into process M costing Rs.

600. The output were :

Process M 1100 Units

Process N 950 Units.

Prepare Process Accounts and Abnormal Loss

(Wastage) Account. 

vFkok 

OR

fVIif.k;k¡ fyf[k,µ¼dksbZ rhu½
Write short notes : (any three) 5×3=15

(1) ykWx cqd Log Book

(2) ifj'kq) Vu fdyksehVj ,oa okf.kfT;d Vu fdyksehVjA
(3) ifjpkyu ykxr ys[kkadu esa ykxr dk oxhZdj.k

Clas si fi ca tion of Cost in Op er at ing Cost.

(4) ifjpkyu ykxr ys[kkadu esa ykxr bdkbZA

bdkbZ–5

 Unit–5

5. ¼v½ ,sls vk; dh enksa dks crkb, tks ykxr ys[kk esa 'kkfey ugha
fd;s tkrs \ 7.5

Give such income items which are not shown in Cost

Account ?

¼c½ xSj ,dhÑr ys[kkadu D;k gS \ le>kb;sA 7.5

What is Non integrated system of Accounting  ?

Explain.

vFkok 

OR

fuEu vk¡dM+ksa ls x.uk dhft,µ 15

Calculate from the following data :

(1) ykHk ek=kk vuqikrA
(Profit Volume Ratio)
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(2) ykHk tc fcØh 8000 ̀  gksA
(Profit when sales in  ` 80,000)

(3) tc foØ; ewY; 20% de dj fn;k tk;s rks u;k lefoPNsn
fcUnq A
New Break Even Point when sales price is  reduced

by 20% .

fLFkj O;; Fixed Cost ` 20,000

le foPNsn fcUnq Break Even Point ` 50,000
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